AMEETAYHL T YRR—ILER

ORE&H: 20145 10H 5H HEEH ORHES: $£38E—J
O SFHIREEZI:  13:00 o i5: ABE KB5S
OHEHR THZI: OXf&E: &Y GRR) O#fR: A
F—L% 1Q 2Q 3Q 4Q TOTAL LS
NINKE 0 0 7 7 2 2M,
BEEFERKE 13 17 7 37 4% OBK
BaEA
F—L& 8- B PLAY PLAYER(S) ¥—K TFP PLAYER(S)  BYG/%HNG
Lisfeagead o 1 6:29 FUM K #1510f, 2 NG
AEmFER 1 11:22 pass  H#I2E A #1918 21 K #1502 G
BAEFR 2 4:38 FG #150f, 2 32 —
BREFER 2 6:34 run #23F 20 K #1507, 2 G
mEEFER 2 10:06 run #23F 1 K #1512 G
K= 4 0:50 run #71H 1 K #98FH #f G
BEZER 4 6:04 run #2155 M 9 K #1507, 2 G
F— L £ R K= A FRKE
1.97—ART oY B (5> —/ R —KH]) 8( 4— 3— 1) 11( 6— 5— 0)
VRAV S AE-—BY—HIo2—tTh 35—9—4 12—11-0
gev—r | 102vds | 74vds
35 E#—E/{Vv—F 29 — 7Yds 38 — 104Yds
4IE E#%—-EEVY—F 64 — 109Yds 50 — 178Yds
5. Al E#H—EXVY—F 3 - 5Yds 8 — 37Yds
6.77>7 L [E] % — F& K 4—1 0—0
7.74—JLEI—)L [E] %% — B 2h 0—0 2—1
8. 78— LA A 5 21:18 26:42
9.3rd-down Conversion 2/15 3./11
10.4th-down Conversion 1.3 01




BN NMKEF

AIEET A)Hh TR —ILER

B AGCE (LIMKZ)

® >
NO. £ Al Bl Yards TD A Fi5
10 28U & 7] —21] o] 11] -8
28 #21U B A 9] 26/ o 10| 2.9
43 H B fEEg 8] 37 o 11| 46
100 TEAM 1 -16] o0 -16
1358 22 2| -22] 0 —11
70 HES 2| 3] 1 2] 15
® /\X
NO. A Hl [E% BT #—tYards TD K FiY
| 10 Bt & [ 35] 9] 4] 102 of 37| 29|
oL—D
NO. Z2X:11 B4k Yards TD A iy
85 AR K &E [ 3] 48] o 371 16
PEREAES 3] 34] o] 25/ 11
25 KH &7t [ 2] 8] of 4 4
88 Af BAAE | 1] 12 o] 12 12
® VoA
NO. Z2X: 1] Bl Yards 1 2 3 4 5 6 7 8 9 10
98 FA# T~ 1] 52 52
24 2% e I |
® /\ Uk
NO. Z2X:1 Bl¥kYards 1 2 3 4 5 6 7 8 9 10
13 R £2 [ 1] 22 22
10 5] &2& | 2] 34 18] 16
@xvOAT-1)3—2
NO. £ |l E% Yards TD 1 2 3 4 5 6 7 8 9 10
[ 28 &1L #&A Il 3] 45] of 5 8 22f | | | | |
® GBY vy
NO. £ |l E%k Yards 1 2 3 4 5 6 7 8 9 10
NER &2 1] 8 8
R 1 51 5
98| [EFt A4 1HE E




B A& AP

HIMBET A)HTybR—)LE

BR
i

BN E (FAEFREXE)
® >
NO. £ Al Bl Yards TD A Fi5
N2EREE 5] -5] o] 11] -1
23 3 B 13] 55| 2| 20| 42
21 EH R 10] 40] 1] 13| 4
1 &K 1&iE 2] -1 0 -1
20 Bl & 1 3 of 3 3
25 /NBF EEh 71 12 o] s8] 1.7
® \X
NO. A Hl [E% BT #—tYards TD K FiY
[ 12 ER8 &8 [ 12] 11] o 74] 1] 21| 6.2
oL—D
NO. Z2X:11 B4k Yards TD A iy
21 A &R T 2 3 of 2[ 15
8 [il;E B [ 4] 24] o] 14] 6
19 124 5B [ 4 41 1] 21| 10
1 Bk I&hs [ 1 6] o] 6] 6
® VoA
NO. Z2X: 1] [B] %% Yards 2 3 5 6 10
[ 15 MJE $hik [ 6] 275]] 40] 40] 63] 46]  40]
® /\k
NO. Z2X: 1] [B] %% Yards 2 3 5 6 10
[ 15 MZE 3EEk [ 4] 121] 24] 27] 32| [ |
QX IAT-)3—>
NO. Z2X: 1] [l Yards TD 1 2 4 5 9 10
[ 23F RA I 1T 71 of 7 [ |
® QBY vy
NO. Z2X: 1] [B] %% Yards 2 3 5 6 10
[ 7&K EX 2] 22 1] 1] [ ]
@ 13—t Th
NO. Z2X: 1] [l Yards TD 1 2 4 5 9 10
17180 Bt [ 2] 351 of 35/ o
15 T2 $h#k [ 1] 30] of 30
26 BH 3k I 1] 6] of 6




